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220607 Computed calValue (degK) vs freq

- Equations:

- G2=(1-g*9)
Rprod=CalRatSky*CalRatAbs
" Rdif =CalRatSky - CalRatAbs

" TcalY=(Rprod)/(Rdif) *((1-alpha)*G2*(Tabs - Tsky)) i
- TcalAbs=CalRatAbs*TAbs*(G2 + Trcv/Tabs + alpha*(Tomt/Tabs
| TcalSky=CalRatSky*TSky*(G2 + Trcv/Tsky + alpha*(Tomt/Tsky
' Params used: B
" Tsky:15.0 Tabs:304.9 Tomt:300.0 Trcv(a,b):74.0 68.0 T
- ReflectionCoef(g):0.05 Absorbtion(alpha):0.07 .

T T T T ]
i ILOIACaI using‘ Y factor | __ PolBCal using Y faclor i

PolACal using Abs only * PolBCal using Abs only .
' PolACal using Sky only * PolBCal using Sky only
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Computed calValue (degK) and sampled Points for Ikup table
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220607 Measured Tsys vs freq (using calOffs)
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